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QUESTION 1
During a Manufacturing Cloud implementation, the Production Supervisor wants to close the work orders for last month
and wants to make sure that the work orders include the correct cost. Identify the approach to be taken by the

Production Supervisor.

A. The Production Supervisor need not include cost variances while costing last month\\'s work orders because those
can be applied directly in subledger accounting.

B. The Production Supervisor needs to include all costs and variances in last month\\'s work orders and close them;
however, the work orders where updates are expected, should not be closed.

C. The Production Supervisor should make sure that all costs are included while closing last month\\'s work orders;
however, variances can be included after closing the work orders.

D. Work order costs can be updated anytime regardless of the status of the work order.

Correct Answer: B

QUESTION 2
The Manufacturing plant has two 8-hour shifts for the work center WC1: Day Shift and Night Shift. You associate four
units each for resources R1, R2, R3, and R4 to the work center WC1. The customer wants to assign all units of

resource R2 available for Day and Night Shift. Identify the correct sequence of steps to achieve this requirement.

A. Associate Resource R2 with Work Center WC1> Select Available 24 Hours check box> Resource Availability region>
Enter 4 in Day Shift Column> Enter 4 in Night Shift Column.

B. Associate Resource R2 with Work Center WC1> Deselect the Available 24 Hours check box> Resource Availability
region> Enter 2 in Day Shift Column> Enter 2 in Night Shift Column

C. Associate Resource R2 with Work Center WC1> Select the Available 24 Hours check box> Resource Availability
region> Enter 2 in Day Shift Column > Enter 2 in Night Shift Column.

D. Associate Resource R2 with Work Center WC1> Deselect the Available 24 Hours check box> Resource Availability
region> Enter 4 in Day Shift Column> Enter 4 in Night Shift Column.

Correct Answer: C

QUESTION 3

A Work Center created a month ago is no longer in use now. You want to remove the Work Center;
however, the system is no allowing you to delete it.

Identify three reasons for this.

A. There are resources associated with the Work Center.
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B. The Work Center is being referenced in the Closed Work Order.

C. The Work Center is being referenced in the Open Work Order.

D. The work center is being references in the work definition operation.
E. The work center is being referenced in the Work Area.

Correct Answer: ACE

QUESTION 4

A Production Supervisor queries a Work Order (WO-1025) from the manage Work Orders page. On the
Entering Edit Work Order: WO-1025 page, he finds General Information, Operations and History tab, but
not the Reservations tab.

Identify the two reasons that can cause the Reservations tab not to be displayed.

A. Work Order (WO-1025) is not a Configured item Work Order.

B. Work Order (WO-1025) is not a Back-to-Back Work Order.

C. Work Order (WO-1025) is not a Drop-Ship Work Order.

D. Work Order (WO-1025) is not a Pick-to-order Work Order.

E. Work Order (WO-1025) is not a Plan-to-produce Work Order.

Correct Answer: AC

QUESTION 5

The production user wants to report Work Order completion. Identify two ways of reporting the progress of work order at
work order operation level.

A. Change Move status to Ready.

B. Complete using quantity completion

C. Complete with Details

D. Quick Complete

E. Change status of Operation to completed

Correct Answer: CD
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